
doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

pan Hyde — doktor Jekyll

doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

doktor Jekyll — pan Hyde 

pan Hyde — doktor Jekyll

Liczba
rozegranych 

rund
....................................

gracz A gracz A

Liczba zwycięstw:

....................................
gracz B gracz B

Na które pole 
dotarł znacznik 

przemiany

1
2
3
4
5

zaznacz zwycięzcę×
doktor Jekyll — pan Hyde 

pan Hyde doktor Jekyll

Liczba
rozegranych 

rund
....................................

gracz A
....................................

gracz B

Na które pole 
dotarł znacznik 




